DATE ﬁ

T0PIC '

TN

Lecture C\u?'h: e 9

Prob. %6 Neutrron S'ze and St,\?erhova Remnant s
The CFAXMMAGE;‘%YS&)QHAS ~ {0 ll‘g’\f Yezrs Aacrtoss
| 3‘
| (\los'q Ap) P=power = 5x16 w
‘ ; 2 2
\‘ Kﬂ& = -%? Ins &) o = 2“- Ins = &MR
i T 5
i; _|3
Given: | T = 0.0331 s aT = 4,22 x10 Sec.

" 2

T4 2 Fia Srom bR

/

= 2
Powerw: AdKns = an” Xos _d_(:r-z) = 2x% Lns (“ZT 3>/dT\

I at \dt )
| 3
Bwer= - 4n° Lns far Ins= Powee T3 = u:w> (@ozBls)
T2 kdt/ ,_‘“.z CHZH; q-yrz (q.’lltics‘ash)
38 -

Ins = 1088 %10 kq-m*

30
b.) M = 1.4 sclavr masses = 1.4 (\ 4] xIo kq)
“ LY : 2 5 A 38 L
L LIns = ?LM.\,. R R'= 5 Xns R=.Y 5 lL.ogex0 \A«\~Mz
‘ 5 2 M i 30
J ns ‘ 2 1y Q-‘\‘\%\O \CS)

K =9881 wmeters ~ 415 kwm

e |

V. = Rew =R 2nr = 988\ m { 27 \ Vo = Laisuo"m/"

\
|
f T \o.o'nls}
|
\
‘ -3
/f_ 3.00 2 ]0°m]s
H%‘?ﬁé-rr ug'l'

3P k3
'DgnsH'\,n = Mnsﬁ = ""‘("qq X10 k‘iL Density = &.89x10 kg/mj
Velume %—Tr(‘lSSl m>3




